Geometry A

Slope and Parallel/Perpendicular Lines
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| can identify parallel and perpendicular lines by examining slopes.
| can write equations of parallel and perpendicular lines.

Parallel Lines

~ Perpendicular Lines

To lines are perpendicular if their slopes
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Slope Criterion for Parallel Lines

Two non-vertical lines are parallel if and only if they have __ihe ame &\O?Cz

Vertical lines are __Q\WANS ?OYC\HH g I I

Example 1: Find the slope of a line parallel to the line containing A(-3, 4) and B(2, 5).
Mg = 6-4 . L
2+¢3 5

Siopeof Wne paralle) will be the Same s‘o‘m=é |

Example 2: Write an equation of a line that is parallel to y = §x+ 7
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Example 3: Write an equation of the line passing through the point (3, 4) that is parallel to the line y =—4x+5.
o\d slope = -4 Y= mxtb
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Example 4 Graph the line parallel to line AB that passes through point P and write its equation.
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Check Point: Chose One! V2V
1. Write an equation of the line passing through the point (-2, 5) that is parallel to the line y =2x-7.
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2. Write an equation of the line passing through the point (3, 5) that is parallel to the line passing through (3, 3)
and (-3, -1). g:mxtb
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Slope Criterion for Perpendicular Lines

Two non-vertical lines are perpendicular if and only if _the\r gmpgg are D?F‘ repyr LS .

Vertical lines and horizontal lines are U‘IW(H;S L ; ‘_%

Example 1: Find the slope of a line perpendicular to the line containing A(-3, 4) and B(2, 5).
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243

L slope= -5
Tne stope oF the ine 1 weutd hove an opp- reaprocd) Siope ok -
Example 2: Write an equation of a line that is perpendicular to y = §x+7
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Example 3: Write an equation of the line passing through the point (6, -3) that is perpendicular to the y = —4x+5
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Example 4: GrL_Eh the line perpendicular to line AB that passes through point P and wr|te |ts equatlon
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Check Point: Choose One! b=l

1. Write an equation of the line passing through the point (-2, 5) that is perpendicular to the line y =2x—7
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2. Write an equation of the line passing through the point (3, 5) that is perpendicular to the line passing through
(3, 3) and (-3, -1). Y=mAtb
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